ﬂg Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers
1) 39x44 = 2) 43x33=
. . 1.
z.
:
...................... )
R SR :
6.
3) 42x59 = 4) 34x33 =
5) 35x47 = 6) 36x36=
S S
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Multiplying Using Arrays Name: Answer Key
Use the array provided to solve each problem. Answers
1) 39x44 = 2) 43x33=
40 4 30 3 1 1,716
2. 1,419
30 (30 x 40) (30 x|4)
1,200 120 40 wx3)  @hda 3. 2,478
: 1,200 12
---------------------- - - 4 1,122
o (9 x 40) CEL) !
360 136 :
P L 5 1,645
(3x30) (3x13)
90 9
6. 1,296
3) 42x59 = 4) 34x33 =
50 9 30 3
40 40 x 50 10 x 4 :
( 2,000 : g 360 30 (30 x 30) (30 x(3)
: 900 190
2 pm------ TZXBOy === "" 'E7 %7 E
100 18 e '
4 (4 x 30) (4% B)
120 17
5) 35x47 = 6) 36x36 =
40 7 30 6
30 (30 x 40) (B0 x 1 i
1,200 i 210 30 (30 x 30) (:eo x 6)
' 900 ' 180
5 [T T e5xa0) 5x7 E
200 35 '
U R R R UG P _:- R
6 (6 x 30) 16 x 6
180 125

TOU
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ﬂg Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers

1) 66x49 = 2) 33x34=

. . 1.

z.

:

A

------------- 5,

6.
3) 38x19= 4) 38x13 =
5) 32x26 = 6) 38x42=
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Multiplying Using Arrays Name:  Answer Key
Use the array provided to solve each problem. Answers
1) 66x49 = 2) 33x34 =
40 9 30 4 1 3,234
E i . 1,122
60 (60x40) (60 x ) 30 (30 x 30) (éo x ) 3. 122
2,400 1540 900 1120
i 5 s 494
P -1 i
(6 x 40) (6x9) 3 [m-TmTmmrsoossmmmmm-s r-- 832
(3x 30) (8x4) 5,
240 54 - -
6. 1,596
3) 38x19 = 4) 38x13 =
10 9 10 3
30 |(30 x 10)1(30 x 9) 30 |(30 x 109h x(3)
300 . 270 300 '90
8 | (8x10)! (8x09) 8 1@x108xp)
80 ' 72 80 124
5) 32x26 = 6) 38x42 =
20 6 40 2
30 (30 x 40) (30 % 2)
30 (30x20) {306 1,200 b
600 ' 180 :
i 8 (8 x 40) (@)2)
DY i 320 i
(2 % 20) (2%X6)
40 12
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ﬂg Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers
1) 34x25= 2) 34x22 =
. . 1.
: : 3
E E 4
______________ .
' d 5.
6.
3) 33x49 = 4) 42x26 =
5) 33x33 = 6) 39x22 =
----------------------- - i
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ﬂ; Multiplying Using Arrays

Name:

Answer Key

Use the array provided to solve each problem.

1) 34x25= 2) 34x22 =
20 5 20 2
0| (30x20)  G0x3) 01 eox20) (3012)
600 150 600 b
.............. de-- 4 177 ax20)  (@x2)
4 (4x20)  Mx5 80 B
80 20
3) 33x49 = 4) 42x26 =
40 9 20 6
30 (30 x 40) (30 x 9)
1,200 ' 270 i
: 40| (40 x20) (40 x 6)
: 800 1240
8 [T (3x40)""""" (I%3 :
120 27 :
2 bty s
40 12
5) 33x33= 6) 39x22 =
30 3 20 2
30 (30 x 20) (3d % 2)
30 (30 x 30) (3p x[3) 600 B
900 190 !
S L 9 ©x20) (9x[2)
(3 x 30) (3 x B) 180 g
90 9

Answers
1 850
2. 748
3. 1,617
4 1,092
5. 1,089
6. 858
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ﬂg Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers

1) 37x46 = 2) 32x29 =

. . 1.

z.

:

IR ;

6.
3) 32x53 = 4) 47x43 =
5) 35x14 = 6) 34x17 =

.......
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Multiplying Using Arrays Name: Answer Key
Use the array provided to solve each problem. Answers
1) 37x46 = 2) 32x29 =
40 6 20 9 1 1,702
: : 2 928
30 (30 x 40) 30 x )
1,200 1180 :
: 30 (30 x 20) ' (30 x 9) 3. 1,696
I 600 1270
! (7 x 40) (7 x §) E . 2,021
280 42 :
: 490
2 [TTTUERE TG G)” >
40 18
6. 578
3) 32x53 = 4) 47x43 =
50 3 40 3
30 (30 x 50) (38 % 3)
1,500 D0 40 (40 x 40) (44
: 1,600 120
2 pmmmmmmm-- @3Egy=="""""" ha3) :
100 6 :
T ek )
280 29
5) 35x14 = 6) 34x17 =
10 4 10 7
30| (30 x 10(d0 x #) 30 | (30 x 10) (30 x 7)
300 1120 300 1 210
-------
6106 ) 41 (4x10) 1@ x7)

40 208
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ﬂg Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers
1) 34x18= 2) 36x39 =
. . 1.
z.
:
N L ‘
------- | :
6.
3) 39x23 = 4) 39x13 =
5) 37x42 = 6) 34x47 =
B ]
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Multiplying Using Arrays Name:  Answer Key
Use the array provided to solve each problem. Answers
1) 34x18 = 2) 36x39 =
10 8 30 9 1 612
E i 2 1,404
i 30 i
! (30 x 30) (30 x 9)
30 | (30 x 10) 1(30 x 8) 900 | 210 3 897
300 1 240 :
N L a. 507
5 6 (6 % 30) (6 x9)
_______ 186 54 . 1,554
41 (4x10) 1 (4x9)
40 32
6. 1,598
3) 39x23 = 4) 39x13 =
20 3 10 3
0| @ox20) @3 30 |30 x mx:) x|3)
600 190 300 190
9 N A A H
©x20) (3xB) 9 ;
180 127 © 301009I2><73)
5) 37x42 = 6) 34x47 =
40 2 40 7
30 (30 x 40) (3d42) 30 (30 x 40) (30 x 7)
1,200 b 1,200 1210
--------------------- : O T Y R Y
! (7 x 40) (742) 160 28

e
o
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ﬂg Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers
1) 59x45 = 2) 48x22 = S
; : 1.
2.
;
4.
"""""""" ;
6.
3) 48x24= 4) 44x44 =
5) 44x27 = 6) 33x35=
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ﬂ; Multiplying Using Arrays Name:

Answer Key

Use the array provided to solve each problem.

1) 59x45 = 2) 48x22 =
40 5 20 2
50 : 40| (a0x20 4oE 2
(50x40) (50 x|5) ( X )
2,000 P50 800 %f(
AT * [egmegy
3) 48x24 = 4) 44x44 =
20 4 40 4
40 : :
(40 x 20) (40 x|4) 40
(40 x 40) (ab x|4)
800 ?6C 1,600 160
g [T F N I L
(8x20) (&) 4 (43409 @xh
=Y oz 160 16
5) 44x27 = 6) 33x35=
20 7 30 5
: 30 |
; (30 x 30) (30 x 5)
40 (4083020) (5428><07) 900 5150
: S [Tttt (3x30) @x5
4 17 ax20 (ax7 %0 15
80 28

Answers
1 2,655
2. 1,056
3. 1,152
4 1,936
5. 1,188
6. 1,155
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ﬂg Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers
1) 33x22= 2) 33x12 = -
; : 1.
2.
:
4.
"""""""" 5,
6.
3) 39x14 = 4) 32x34 =
e
5) 36x35= 6) 37x38=
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Multiplying Using Arrays Name: Answer Key
Use the array provided to solve each problem. Answers
1) 33x22= 2) 33x12=
20 2 10 2 7126
5 5 396
30 B0x20) (3052 30 | (30 x 1094 § 2) 546
600 50 300 KQ
; ; 1,088
3 [T ER R T ? [ex10mx) 1,260
60 6
1,406
3) 39x14 = 4) 32x34 =
10 4 30 4
30 :
(30 x 1Q30 x 4) 30 (30 x 30) (30 x )
300 120 900 1120
e I -
9 (23°30) (2%74)
(9 x 10Y9 x 4)
90 136 00 ¢
5) 36x35 = 6) 37x38 =
30 5 30 8
30 :
30 (30 x 30) {30  8)
(30 x 30) (80 x 5) :
900 150 900 } 240
""""""""""" 7 (7 x 30) {7 % 8)
6 (6 x 30) (6 x5 210 56
180 120

O
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ﬂg Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers
1) 59x59 = 2) 49x45 =
. . 1.
z.
:
N ‘
"""""""""" = :
6.
3) 36x15= 4) 35x34 =
T N O
5) 38x19= 6) 39x49 =
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ﬂ; Multiplying Using Arrays

Name:  Answer Key
Use the array provided to solve each problem. Answers
1) 59x59 = 2) 49x45 =
50 9 40 5 1 3,481
: 5 2. 2,205
50 (50 x 50) (iso < 9) 40 (40 x 40) (b x|5) 540
2500 ' 450 1,600 200 3
; ; . 1,190
-------------------- - 9 9 x 40 gx5
o (9 % 50) (9 x9 PO g 5. 722
6. 1,911
3) 36x15= 4) 35x34 =
10 5 30 4
30 |(30 x 10030 x 5) 30 (30 x 30) (30 x o)
300 150 900 1120
e e L
6 |(6x10)(5 x5 S (5% 30) (5 x4)
60—1-30 150 20
5) 38x19 = 6) 39x49 =
10 9 40 9
2 30 (30 x 40) (30 x 9
(30 x 10}(30 x 9) 1,200 1 270
300 1 270 :
______ o (9 x 40) (9% 9)
H 360 P81
8 |(8x10)1(8x9)
80 1 72
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ﬂg Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers
1) 68x52 = 2) 56x46 =
. . 1.
e e 2
: : 3
E E 4
6.
3) 57x66 = 4) 67x77 =
5) 46x58 = 6) 55x63 =
-------------------- r-- :
i E L
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Multiplying Using Arrays Name: Answer Key
Use the array provided to solve each problem. Answers
1) 68x52 = 2) 56x46 =
50 2 40 6 3,536
: : 2,576
60 (60x50) (60t 2) 50 (50x40) (50 %) 3,762
3,000 190 2,000 300
5,159
8 [ T @x50)  (8%2) s (6x40)  (x6) 2,668
200 T 240 36
3,465
3) 57x66 = 4) 6777 =
60 6 70 7
50 50 x 60 50 x|6 :
( 3,000 : ( goc : 60 (60 x 70) (6b x[7)
: 4,200 20
[ (7x60)  (AxP)
= ? A DR
490 49
5) 46x58 = 6) 55x63 =
50 8 60 3
40 | :
(40 x 50) (dox$) 50 (50 x 60) (50 % 3)
2,000 1320 3.000 50
N 6350 e N D i
300 78 (5 x 60) (53)
300 15
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ﬂg Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers
1) 52x54 = 2) 49x56 = S
; . 1.
:
I
"""""""""" " 4,
_______________________ :
6.
3) 33x24 = 4) 37x19 =
_______________
5) 33x23= 6) 32x35=
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ﬂ; Multiplying Using Arrays Name:  Answer Key

Use the array provided to solve each problem. Answers
1) 52x54 = 2) 49x56 =
50 4 50 6 1 2,808
: : 2. 2,044
: 40 (40 x 50) (4'2 x |6)
: 2,000 40
50 (50 x 50) (56 X 4) ! 3 92
2,500 20¢ :
R G E T PP - 703
: 9 (9% 50) ) N
5 759
2 pmm------ [ZRBOF-"""""" 2=l 5
100 8
6. 1,120
3) 33x24 = 4) 37x19 =
20 4 10 9

30 (30x20)  (
600

L
o
X

) 300 270

=
N
o

30 |30 x 10)5(30 x 9)

T | (7x10)1 (7% 9)
! 863

GO ==

3 [77778x20)  (®x4 70
60 iV
5) 33x23 = 6) 32x35=
20 3 30 5
30 (30 x 30) (20x §)
%0 (30x20)  (3px[3) 900 1150
600 190 :
i 2 prme--- FRA07 T 0378)
: 60 10
: (3x20) "~ @3x3p)
60 9
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